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RTSUVWXVWYWZ W[V\]^_a```\WZ W[V\]^b∼S UVW XV WZF
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^WopWY^WSo\opq_a```\^WSo\opqb∼^WopWF

(3)KrA: @;ADBstF>nuPNnQPHNMvMwxih HykMf r:>iPGF

RVz^{Yo XZ}|~{��X\]^_a```\o XZ|~{��X\]^b∼RVz^{J
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 !|δτX|q= !|X(1)|q·τqH

☛
�	����� 	� ���� �� ��� �

 !|δτX|q=cqτζ(q)
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 !|δτX|q=cqexp[−H(q)·n(τ)]

✔n(τ)=−logτ=⇒ !|δτX|q=cqτH(q)≡cqτζ(q)
' � �� ����#� ��� ���*

✔n(τ)6=−logτ=⇒�%������� �� � �� ����#� ��� ��� �� �&����
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•G���(�����&$�#������$��� ������� �0

����������������
� ����� �G̃(q)=e−ρ(q)

0

•dm(t,r)=
cdtdr

r2"���� �#������ ��� ������ � �� ��"��� ��0

•M(Cr(t))����������+
� �+exp[−ρ(q)m(Cr)]=rρ(q)

Qr(t)=
exp[M(Cr(t))]
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� �$ !δτAq∼τq+cϕ(q)
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A(t)� � ����� �� �BH���� �� �� �� �������� ���� �� �0�	�
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=⇒VH(t)=BH(A(t)),t∈R+
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∀t∈R+,  !|BH(t)|q=tqH· !|BH(1)|q,

VH%�������� �� �&����������

� �$ !|δτVH|q∼τqH+cϕ(qH)
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εr=
1

Ωr

∫

|x|<r
ε(x,t)dx=⇒��ε

q
r∝rτ(q)

δvr=v(x+r,t)−v(x)
Kolmogorov62

=⇒��|δvr|q∝rq/3+τ(q/3)

8882 ,;;$2<2<#$40..$2-0 36$ 34$
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